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#include <stdio.h>

PR DR ¥

double funcl(double x);

double func2(double x);

I* BN */

double trapezoidal( double a, double b, int n, double (*f)(double) );

int main(void)

{

}

int n=100;

printf("2.0/(x*x) % [1,2] CHEs L £ 9, 5EIEIE%d T ¥n", n);
printf("f## 513 %20.15f T4 ¥n",trapezoidal(1.0, 2.0, n, funcl) );

/A=A

printf("4.0/(1+x*x) % [0,1] TRy L £7°, EEIZ%d TI¥n", n);

printf("f## 513 %20.15f T4 ¥n",trapezoidal(0.0, 1.0, n, func2) );

return 0;

[ BIAR

double trapezoidal( double a, double b, int n, double (*f)(double) )

{

double T, h;

int 1;

h=(b-a)/mn; /* ZHEDIEE */

1* BN */

T= (D@ + *Hb) )/ 2.0;

for (i=1i<n;i++) T+=(CD(a+1i*h);
T *=h;

return T;

KATRER

2.0/(x*x) % [1,2] CHES LET, 4rEI%kiT 100 TF

FERIT

1.000029166020881

4.0/(1+x*x) % [0,1] TRE4y L £, S0B8I¥i% 100 T,

FERIT

3.141575986923129




W HTRIERE
fi(x)

EAR kI & BER
* O EFE */ () = 10.9246212
double funcl(double x) e o %
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return( 2.0/(x*x) ); .n“}(:)ﬁc i
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double func2(double x)
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return( 4.0 / (1.0+x*x) ); (R Pt 28368]
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AFA4 KT o7V UAA p.139 x=1 %8 *
=a—pr e a—YAR n=2 &73%. h=(b-a)/2, x0=a, x1=b+h, xe=a+2h=b, x=a+sh
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Hence  ["f(a)de ~ (o +4f1 + f2)
a
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#include <stdio.h>
I* B DES */
double funcl(double x);
double func2(double x);
TR AN |
double simpson( double a, double b, int n, double (*f)(double) );
int main(void)
{
int n=50;
printf("2.0/(x*x) % [1,2] T L £ 9, 2EEITZ%d T3 ¥n", 2*n);
printf("f# 513 %20.15f T3 ¥n",simpson(1.0, 2.0, n, funcl) );



printf("4.0/(1+x*x) % [0,1] TRy L £ 7, EIEII%d TT¥n", 2*n);
printf("#% 513%20.15f T4 ¥n",simpson(0.0, 1.0, n, func?) );

return 0;

}
[ Y N
double simpson( double a, double b, int n, double (*f)(double) )

double S, h;

int 1;

h=(b-a)/(2.0*n); /* ALEDIEE */
% T N
S= (D) + Hb) ) ;
for (i=1;1i<n;i++) {
S +=4.0*(*(a + (2.0%i-1.0)*h ) + 2.0*(*N( a + 2.0%*i*h );

S +=4.0*(*f(a + (2.0*n-1.0)*h ); FEATHE R
S *= h/3.0; .
return S: 2.0/x*x) & [1,2] TR LEd, oFI%iE 100 TF
} FEEIZ 1.000000002582389
4.0/(1+x*x) %[0, 1] TR LEd, oEI%0x 100 T,
AZ74 K10 HEES  p.l44 R 3.141592653589754
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BIAK [¢ &), P& ¢ &)=yo<yi<<ym=T(x1) & m %43 k=(ym-yo)/m

k
F(z;) = 5{90 +on+2(g1+92+ -+ gn-1}, 9 = f(zi,y5)
v N A (o), P&, ¢ x)=yo<yi<-<yem=T (xi) & 2m %5757, k=(yam-y0)/2m

k
F(x;) = §{QO+92m+4(gl+g3+"'+92m—1}

+2(g2 + ga+ -+ gom_2)}, k= *"’273—_”0
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